CROSS-EXAMINATION: CARD SET A

Given: 9x—6=5x+24
Prove: X=17.5
Statement: Reason:
1. 1. Given
2. 2. Subtraction Property
3. 3. Addition Property
4 x=15 4.
PROVE ME WRONG |

K2

1 N



CROSS-EXAMINATION: CARD SET A

Given: 3(x+ 1) =5+x

Prove: X=1

Statement: Reason:
1 3(x+1)=5+x 1.
2. 2. Distributive Property
3. 2x+3=5 3.
4 2x=2 4. Subtractive Property
5. X= 1 5.

PROVE ME WRONG |

|

K2



CROSS-EXAMINATION: CARD SET A

Xi2=9
Given: 6

Prove: X =42

Statement: Reason:

i2=9
1. 6

,  x+12=54

2. Multiplication Property

PROVE ME WRONG m

I LeE‘A*R°N



CROSS-EXAMINATION: CARD SET A

Given: 3(7— x) =—x+2x+37

Prove: X =—4

Statement: Reason:

1 3(7—x)=—x+ 2x+37 1. Given
5. 21-3x=-x+2x+37 2.
3. 3. Distributive Property
4 4
5. 5. Subtraction Property
6. x=—4 6
. PROVE ME WRONG y !ggw




CROSS-EXAMINATION: CARD SET A

--------------------------------------------------------------------------------------------------------------------------

A) Given F) Division Property K) Addition Property
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onet gt | wrest
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PROVE ME WRONG KZD

LeE-A*R°N



CROSS-EXAMINATION: CARD SET B

Given:

Prove:

/1is a Complement of /2

L2=/3
/1is a Complement of /3

Statement:

1.

w

o

/1 is a Complement of £2

m/1+m/2=90°

m/1+m/3=90°

Z1is a Complement of /3

Reason:

2. Given

4. Definition of Congruent Angles

6. Definition of Complementary Angles

PROVE ME WRONG |
|

LeE-A*R°N




CROSS-EXAMINATION: CARD SET B

Given: £1and £2 are Right Angles . 2
Prove: £Z1= /2
Statement: Reason:

1 41and £2 are Right Angles 1. Given

5 mZ1=90° 2.

3. 3. Definition of Right Angles

4 4

5. /1z2/2 5. Definition of Congruent Angles

. PROVE ME WRONG y !ggw




CROSS-EXAMINATION: CARD SET B

/1 and Z2 are Supplementary

Given:

/3 and £2 are Supplementary  1N\\2
Prove: £1= /3

Statement: Reason:

1. 1. Given

5. 43 and £2 are Supplementary 2.

3. mZ1+m2zZ2 =180° 3. Definition of Supplementary Angles
4. mZ3+m”s2=180° 4.

5. 5. Transitive Property

6. mLl=m/3 6.

7. 7. Definition of Congruent Angles

PROVE ME WRONG |
|

LeE-A*R°N



CROSS-EXAMINATION: CARD SET B

ZACB and £ZDCE

Given:

are Vertical Angles

Prove: X =5

Statement: \ Reason:

1. ZACB and ZDCE are Vertical Angles 1. Given
2. mZACB=m/DCE 2.
3. 3. Substitution Property
4, 4. Subtraction Property
5. x=5 5. Addition Property
- PROVE ME WRONG y !ggw



CROSS-EXAMINATION: CARD SET B

___________________________________________________________________________________________________________________________

. M) Definition of
. Right Angles

N) Definition of
' Complementary Angles

___________________________________________________________________________________________________________________________

Zland £2 are . P) Definition of

C) £1=43 H) Supplementary Supplementary Angles
p) 8x-2=7x+3 ) Xx—2=3 q) m£1=msL2

E) |

; K) £2=43 . R) m£L2=m/3
mLl+msL2=mL3+m”L2 !

PROVE ME WRONG KZD

LeE-A*R°N



CROSS-EXAMINATION: CARD SET C

Given: C_D = EF

Prove: C_E = ﬁ

Statement: Reason:

1. CD=EF 1. Given

2. CD+DE=EF+DE 2.

3. CD+DE=CE 3,

4 4

5. C_E=ﬁ’ 5. Transitive Property
PROVE ME WRONG ’

K2

1 N



CROSS-EXAMINATION: CARD SET C

Given: I is the Midpoint of HJ S | - )

Prove: X =5

Statement: Reason:

1 I is the Midpoint of HJ 1.
s HI=IJ 2. Definition of Midpoint
3. HI=1J 3
4. 2x+20=6x 4.
5. 20=4x 5. Subtraction Property
6. X=5 6
- PROVE ME WRONG y !ggw




CROSS-EXAMINATION: CARD SET C

Given: PR=RS
OS bisects P_Q
RS = RO

Prove:

Q

Statement: Reason:

1. PR=RS
2.
3. PR=RS
4.
5. RS=RQ
6.

1. Given

2. Given

5. Transitive Property

PROVE ME WRONG |

|

K2



CROSS-EXAMINATION: CARD SET C

. . . j— L
Given: I is the Midpoint of BY
1Y =1L B ' ¥
e — ° ®
Prove: IL=IB
Statement: Reason:
1. 1. Given
2. IY=IL 2
3 3
4. BI=IL 4
5. IL=RBI 5. Symmetric Property
6. 6. Reflexive Property
PROVE ME WRONG |

K2

1 N



CROSS-EXAMINATION: CARD SET C

--------------------------------------------------------------------------------------------------------------------------

L) Definition of
Segment Bisector

__________________________________________________________________________________________________________________________

G) Definition of

; M) Addition P
A) Given Congruent Segments ) Addition Property
B) Segment Addition G) Definition of N) Transitive Property
Postulate 5 Congruent Segments
| B) Segment Addition | G) Definition of P) Division Property
| Postulate | Congruent Segments

--------------------------------------------------------------------------------------------------------------------------

of BY H) DE + EF = DF Q) Substitution Property
C) |
D) RS = RQ ) OS bisects PQ R) PR =RQ
E) IL= 1B ' K) BI=1Y

PROVE ME WRONG Kzo

LeE-A*R°N



CROSS-EXAMINATION: CARD SETD

D
Given: £A=£D A E&F
sB=2E Q
B C

Prove: AABC ~ADEF

Statement: Reason:

1. LA=/ZD 1.
2. /B=/E 2.
3. AABC ~ADEF 3.

PROVE ME WRONG |

|

K2



CROSS-EXAMINATION: CARD SETD

~ D
Given: £424D A 1(&
10 15 ) E F
— =— (proportional) 14 21
14 21
B C
Prove: AABC ~ADEF
1. LA=/ZD 1. Given
2. 2. Given
3. AABC ~ADEF 3.
PROVE ME WRONG |

K2

1 N



CROSS-EXAMINATION: CARD SETD

8 _10_12 (proportlonal) A S&F

Given: 12 15 18 12i i18 10
B C

Prove: AABC ~ADEF 15
8§ 10 12
—=— —(proportlonal) 1.
1. 12 15 18
2. AABC ~ADEF 2.

PROVE ME WRONG |

I

K20

LeE-A*R°N




CROSS-EXAMINATION: CARD SETD

--------------------------------------------------------------------------------------------------------------------------

A) Given B) SSS~ Theorem D) AA~ Theorem
' A)Gi 5 ==

| ) Given C) SAS~ Theorem £ 14 21

A) Given

__________________________________________________________________________________________________________________________

PROVE ME WRONG Kzo

LeE-A*R°N



CROSS-EXAMINATION: CARD SET E

AB=DE, AC = DF

Given:
and BC = EF
Prove: AABC ZADEF

A D
B//:\/\C E//H%\/\F

Statement: Reason:

1. AB=DE

4. AABC ZADEF

1.

PROVE ME WRONG |

|

K2



CROSS-EXAMINATION: CARD SET E

Given: 4C 20D, CT 2 DG, /Aa\ //\\
and ZC = 4D

Prove: ACAT =ADOG

Statement: Reason:

1 A_CEO_D 1. Given
2. LC=/LD 2.
3. 3. Given
4. ACAT ZADOG 4.
PROVE ME WRONG |

K2

1 N



CROSS-EXAMINATION: CARD SET E

Q T
Given: £R=LU, L0 =T,
and R_Q ~UT
R s U v
prove: AORS ZATUV
1 ZR=/U 1. Given
2. 2. Given
3 £0=<LT 3.
4 4
PROVE ME WRONG |

K2

1 N



CROSS-EXAMINATION: CARD SET E

Given: 21 2 4L, L] = LM,
and HI = KL | \

Prove: AHIJ =Z=AKIM

Statement: Reason:

1. ZI=/L 1.
2. 2. Given
3. ﬁ ~ ﬁ 3. Given
4 4

PROVE ME WRONG |

|

K2



CROSS-EXAMINATION: CARD SET E

A D
Given: AC=DF,BC=EF,
and ZB = /LE

Proye: AABC =ADEF (Right triangles only)

1. ZB=/E 1. Given

2. 2. Given

3, B_CEE_F 3. Given

4 4

PROVE ME WRONG |

K2

i °N



CROSS-EXAMINATION: CARD SET E

--------------------------------------------------------------------------------------------------------------------------

__________________________________________________________________________________________________________________________

--------------------------------------------------------------------------------------------------------------------------

__________________________________________________________________________________________________________________________

--------------------------------------------------------------------------------------------------------------------------

__________________________________________________________________________________________________________________________

PROVE ME WRONG KZD

LeE-A*R°N



CROSS-EXAMINATION: CARD SET F

Given: £1 and £2 are a Linear Pair P \1\2 ‘Z\ -

- 3
Prove: £1= /3 \‘ \‘

1 £l and £2 are a Linear Pair 1.
5. Line lis parallel to Linem 2.
3. Z1=2z/4 3.
4 Z4=/3 4.
5 ZL1=/3 5.

PROVE ME WRONG |

|

K2



CROSS-EXAMINATION: CARD SET F

Given: £6= /7 4 / />/'
Prove: £5= /8 ‘/ /

Statement: Reason:

1. £6=/T7 1. Given
5. Line lis parallel to Linen 2. Given
3. £5=/6 3.
4 4
5 £L5=/8 5.
PROVE ME WRONG |

K2

|



CROSS-EXAMINATION: CARD SET F

Given: ¢ "b
clld
Prove; £13= /4

Statement: Reason:

. allb .

5 € || d 2. Given

3. £L13=/15 3.

4 Z15=/12 4. Vertical Angles Theorem

5. 5. Corresponding Angles Theorem
6. 6. Transitive Property

PROVE ME WRONG |
|

LeE-A*R°N



CROSS-EXAMINATION: CARD SET F

Given: ¢ "b
clld
Prove: £5= /12

Statement: Reason:

. allb L

2. 2. Given

3 /5=/10 3.

4, 4. Corresponding Angles Theorem
5 L5z /12 5.

PROVE ME WRONG |

|

K2



CROSS-EXAMINATION: CARD SET F

--------------------------------------------------------------------------------------------------------------------------

A) Given D) Transitive Property H) Vertical Angles Theorem

P R
Waver  opamsverosery W VericatngesTheem
e O i

--------------------------------------------------------------------------------------------------------------------------

J) Corresponding Angles
' Theorem

__________________________________________________________________________________________________________________________

PROVE ME WRONG KZD

LeE-A*R°N



